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E–113 

M. Com. (Third Semester) 

EXAMINATION, Dec.-Jan., 2020-21 

Paper Third  

ADVANCE COST ACCOUNTING 

Time : Three Hours ]  [ Maximum Marks : 80 

[ Minimum Pass Marks : 16 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- lkexzh ykxr dks ifjHkkf”kr fd;k x;k %  

¼v½ ykxr ys[kkadu ekud&I esa 
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¼c½ ykxr ys[kkadu ekud&III esa 

¼l½ ykxr ys[kkadu ekud&Z esa 

¼n½ ykxr ys[kkadu ekud&QQ esa 

Material cost defined in : 

(a) CAS-I 

(b) CAS-III 

(c) CAS-Z 

(d) CAS-QQ 

2- fcØh ,oa forj.k O;; gS % 

¼v½ izR;{k O;; 

¼c½ lkexzh O;; 

¼l½ vizR;{k O;; 

¼n½ ewy O;; 

Selling and distribution expenses is : 

(a) Direct expenses 

(b) Material expenses 

(c) Indirect expenses 

(d) Prime expenses 

3- ykxr ys[ks foŸkh; ys[kksa ds iwjd vFkok lgk;d ys[ks gSaA ¼lgh@xyr½ 

Cost Accounts are accounts supplementary or subsidiary to 

financial account. (True/False)  
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4- ße’khu dk chekÞ dkSu&lk mifjO;; gS \ 

¼v½ foØ; ,oa forj.k mifjO;; 

¼c½ dk;kZy; mifjO;; 

¼l½ iz’kklfud mifjO;; 

¼n½ dkj[kkuk mifjO;; 

“Insurance of Machine is which overhead : 

(a) Selling and distribution overhead 

(b) Office overhead 

(c) Administrative overhead 

(d) Works overheads 

5- ferO;;h vkns’k ek=k gksxk % 

okf”kZd miHkksx 4000 bdkb;k¡ 

Ø; dh izfr vkns’k ykxr ` 60 

xksnke vkSj ogu ykxr ` 3 

¼v½ 350 bdkb;k¡ 

¼c½ 400 bdkb;k¡ 

¼l½ 275 bdkb;k¡ 

¼n½ 525 bdkb;k¡ 

Economic order quantity will be : 

Annual consumption 4000 units 

Buying cost per order ` 60 

Storage and carrying cost ` 3 

(a) 350 units 

(b) 400 units 

(c) 275 units 

(d) 525 units 



 [ 4 ] E–113 

6- U;wure Lrj dks izR;kjks/kd LVkWd Hkh dgrs gSaA ¼lR;@vlR;½ 

Minimum stock another name is Buffer stock. (True/False) 

7- vkns’k fcUnq dh x.kuk dh tkrh gS % 

¼v½ miHkksx dh U;wure ek=k × vf/kdre Lrj 

¼c½ miHkksx dh vf/kdre ek=k × vf/kdre yhM le; 

¼l½ vkSlr miHkksx nj × vkSlr yhM le; 

¼n½ U;wure LVkWd × U;wure miHkksx nj 

Order point calculated on : 

(a) Minimum rate of usage × Maximum level 

(b) Maximum rate of usage × Maximum lead time 

(c) Average usage rate × Average lead time 

(d) Minimum stock × Minimum usage rate 

8- e’khu ?k.Vk nj i)fr esa ‘kfDr dh x.kuk fuEufyf[kr esa ls fdl 

vk/kkj ij dh tkrh gS \ 

¼v½ izfr e’khu ykxr ds vk/kkj ij 

¼c½ izfr e’khu ds gkWlZ ikoj ds vk/kkj ij 

¼l½ e’khu ds mi;ksx ds vk/kkj ij 

¼n½ mi;qZDr lHkh 
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Hour rate method power is calculated in which from the 

following ? 

(a) On the basis of each machine cost 

(b) On the basis of each machine horse power 

(c) On the basis of machine usage 

(d) All of the above 

9- iwfrZdrkZ dks ykSVk;h x;h lkexzh Bsdk [kkrs ds lekdyu i{k esa 

n’kkZ;h tkrh gSA      ¼lgh@xyr½ 

Material Return to supplier shows on credit side of contract 

account.   (True/False) 

10- midk;Z dh fof/k ykxr fu/kkZj.k esa viukbZ tkrh gS % 

¼v½ vuqeku] fu;kstu] mRiknu vkns’k 

¼c½ fu;kstu] mRiknu vkns’k] vuqeku 

¼l½ vuqeku] mRiknu vkns’k] fu;kstu 

¼n½ fu;kstu] vuqeku] mRiknu vkns’k 

Procedure of Job costing adopted for cost assessment : 

(a) Estimating, planning, production order 

(b) Planning, production order, estimating 

(c) Estimating, production order, planning 

(d) Planning, estimating, production order 
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11- izfØ;k ykxr fof/k esa igyh izfØ;k dk fufeZr eky nwljh izfØ;k ds 

fy, dPPkh lkexzh dk dke djrk gSA ¼lgh@xyr½ 

In process costing finished goods of first process work as a 

raw material for second process. (True/False)  

12- izfØ;k {k; dks izfØ;k [kkrs ds fdl i{k esa n’kkZ;k tkrk gS \ 

¼v½ fodyu Ik{k 

¼c½ fodyu ,oa lekdyu i{k 

¼l½ lekdyu i{k 

¼n½ mi;qZDr esa ls dksbZ ugha 

Process loss shows on which side of process  

account ? 

(a) Debit Side 

(b) Debit and Credit side 

(c) Credit Side 

(d) None of the above 

13- lkekU; {k; dk izHkko gksrk gS % 

¼v½ fufeZr oLrq dh ek=k c<+ tkrh gSA 

¼c½ fufeZr oLrq dh ek=k ij dksbZ izHkko ugha iM+rkA 

¼l½ fufeZr oLrq dh ek=k de gks tkrh gSA 

¼n½ mi;qZDr esa ls dksbZ ugha 
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Effect of normal loss is : 

(a) Increase the quantity of finished goods. 

(b) No effect on quantity of finished goods. 

(c) Decrease the quantity of finished goods.  

(d) None of the above 

14- la;qDr mRikn gS % 

¼v½ ,d gh dPph lkexzh ls tUe ysrs gSaA 

¼c½ ,d gh izfØ;k ls tUe ysrs gSaA 

¼l½ ,d gh izfØ;k esa iF̀kd~ fd;s tkrs gSaA 

¼n½ mi;qZDr lHkh 

Joint product is : 

(a) Come out of single raw material 

(b) Generated from a single process 

(c) Separated in the course of same processing 

(d) All of the above 

15- ifjpkyu ykxr dk vFkZ lsok iznku djus dh ykxr ls ugha gSA  

        ¼lgh@xyr½ 

Operating cost is not the cost of providing service.  

     (True/False) 

16- izHkko’kkyh ctV ds vko’;d rRo gSa % 

¼v½ lqn<̀+ iwokZuqeku 
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¼c½ ctV lfefr dh LFkkiuk 

¼l½ ¼v½ vkSj ¼c½ nksuksa  

¼n½ mi;qZDr esa ls dksbZ ugha 

Essentials of an effective budget is : 

(a) Sound forecasting 

(b) Formation of budget committee 

(c) Both (a) and (b) 

(d) None of the above 

17- ekLVj ctV izdkj gksrk gS % 

¼v½ le; ds vk/kkj ij ctV dk 

¼c½ fØ;kvksa ds vk/kkj ij ctV dk 

¼l½ yphysiu ds vk/kkj ij ctV dk 

¼n½ mi;qZDRk esa ls dksbZ ugha 

Master budget is a type of : 

(a) Budget on the basis of time 

(b) Budget on the basis of function 

(c) Budget on the basis of flexibility 

(d) None of the above 

18- ctVjh d.Vªksy dk ykHk gS % 

¼v½ fu;kstu esa lq/kkj djuk 

¼c½ ctV cukuk 

¼l½ ykxr fu;a=.k djuk 

¼n½ mi;qZDRk lHkh 
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Benefits of Budgetary control is :  

(a) Improvement in planning 

(b) Budget preparation 

(c) Cost control 

(d) All of the above 

19- mRiknu ctV foØ; ctV ds ckn cuk;k tkrk gSA ¼lR;@vlR;½ 

Production budget prepared after sales budget. (True/False) 

20- ‘kwU; vk/kkj ctÇVx dk fodkl fd;k x;k % 

¼v½ gsjh ,y- fcyh }kjk  

¼c½ ckjVhty }kjk 

¼l½ ihVj fQj }kjk 

¼n½ fMdh }kjk 

Zero-based budgeting developed by : 

(a) Harry L. Wylie 

(b) Bartizel 

(c) Peter Pyhrr 

(d) Dickey 

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nks ;k rhu okD;ksa esa fyf[k,A 

 Attempt any eight questions in two or three sentences. 

1- ykxr ys[kkadu ds rhu mís’; crkb,A 

Explain the three objectives of cost accounting. 
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2- ykxr vkSj ifjO;;kadu esa vUrj crkb,A 

Differentiate between cost and costing. 

3- ewy ykxr ls vki D;k le>rs gSa \ 

What do you mean by prime cost ? 

4- fcu i=d dks le>kb,A 

Explain Bin card. 

5- le;kuqlkj etnwjh Hkqxrku fof/k ds rhu ykHk crkb;sA 

Discuss three merits of time rate wage payment method. 

6- v)Z&ifjorZu’khy mifjO;; dks le>kb,A 

Explain semi-variable overheads. 

7- mifjO;; dk oxhZdj.k eq[; ‘kh”kZdksa esa dhft,A 

Classify the overheads into main headings. 

8- pkyw dk;Z D;k gS \ 

What is work-in-progress ? 

9- vlkekU; gkfu D;k gS \  

What is abnormal loss ? 

10- ykWx cqd D;k gS \  

What is Log Book ? 

11- jksdM+ ctV dks le>kb;sA 

Explain cash budgets. 
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12- ctVjh fu;a=.k ds rhu ykHk crkb;sA 

Explain three benefits of Budgetary control. 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nhft,A xf.krh; izdf̀r ds iz’uksa dks 

NksM+dj vU; iz’uksa ds mŸkj 75 ‘kCnksa esa nhft,A 

 Attempt any eight questions. Each question except 

numerical nature questions is to be answered in about 75 

words. 

1- ykxr dh bdkbZ ls D;k vk’k; gS \ 

What is meant by Unit of Cost ? 

2- ewy ykxr ls vki D;k le>rs gSa \ 

What do you mean by Prime Cost ? 

3- etnwjh Hkqxrku dh gkYls ;kstuk dks le>kb,A 

Discuss Halsey plan of wage payment. 

4- ,d dEiuh okf”kZd vko’;drk dh iwfrZ ds fy, 8000 bdkb;k¡ Ø; 

djrh gSA izR;sd bdkbZ dh ykxr ` 10 gSA vkns’k ds fy, Ø; ewY; 

` 1 izfr bdkbZ gSA ferO;;h vkns’k ek=k Kkr dhft,A 



 [ 12 ] E–113 

A company buys 8000 units of an item for its annual 

requirements. Each unit cost is ` 10. Purchase price per unit 

is ` 1. Determine the economic order quantity. 

5- fcØh o forj.k mifjO;; dk oxhZdj.k crkb;sA 

State the classification of selling and distribution overheads. 

6- 1 tuojh] 2020 dks fe- xks;y }kjk fy;s x;s Bsds dk ewY;  

` 2]50]00 FkkA Bsds ij fuEufyf[kr O;; gq, % 

miHkksx dh x;h lkexzh  ` 62]500 

30&9&2020 dks gLFkxr lkexzh  ` 20]000 

etnwjh     ` 30]000 

izR;{k O;;    ` 32]000 

Iyk.V Ø;    ` 40]000 

30 flrECkj] 2020 dks Bsdk iwjk gks x;k vkSj Bsdk ewY; izkIr gks x;kA 

Iyk.V ij 10% kl dkfV;s vkSj etnwjh dk 20% vizR;{k O;;ksa ds 

fy;s pktZ dhft,A Bsdsnkj dh iqLrdksa esa Bsdk [kkrk cukb;sA 

The contract price of a contract undertaken by Mr. Goyal on 

1st Jan., 2020 was ` 2,50,000. The following expenses were 

incurred on the contract : 

Materials consumed  ` 62,500 

30-9-2020 materials in hand on  ` 20,000 

Wages    ` 30,000 
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Direct Expenses ` 32,000 

Plant Purchase ` 40,000 

The contract was completed on 30th Sept., 2020 and amount 

received duly. Provide depreciation on plant 10% and charge 

indirect expenses @ 20% of wages. Prepare Contract A/c in 

the books of contractor.  

7- vUrjizfØ;k ykHk D;k gS \ 

What is inter-process profit ? 

8- yphyk ctV dks le>kb,A 

Explain flexible budget. 

9- fuEufyf[kr lwpukvksa ls ,d okgu dh izfr fdyksehVj ykxr 

fudkfy, % 

                ` 

okgu dk ewY; 30,000 

izfr o”kZ ykblsal Qhl 1,000 

izfr o”kZ chek O;; 200 

izfr o”kZ xSjst fdjk;k 1,200 

izfr o”kZ Mªkboj dk osru 400 

izfr yhVj isVªksy ykxr 21 

izfr yhVj fdyksehVj pkyu 16 

izfr fdeh- Vk;j vkSj vuqj{k.k O;; 40 

vuqekfur thoudky  300000 fdeh- 

vuqekfur okf”kZd - 12,000 fdeh- 
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From the following information, calculate cost per km of a 

vehicle : 

        ` 

Value of vehicle 30,000 

License fees per annum  1,000 

Insurance charges p.a.  200 

Garage rent p.a. 1,200 

Driver’s salary p.a. 400 

Petrol cost per ltr. 21 

Kilometre run per ltr. 16 

Tyre and maintenance per km 40 

Estimated life 300000 km 

Estimated annual  12000 km 

10- ;fn lkexzh dk U;wure rFkk vkSlr LVkWd Lrj Øe’k% 8000 ,oa 

18000 bdkb;k¡ gSa] rks iqu% vkns’k ek=k Kkr dhft,A 

If the minimum and average stock level of materials are 

8000 and 18000 units respectively, find and re-order 

quantity. 

11- la;qDr mRikn vkSj miksRikn esa vUrj crkb;sA 

Differentiate between joint product and byproduct. 

12- ctVjh fu;a=.k ds ykHk crkb;sA 

Explain benefits of Budgetary control. 
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 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh pkj iz’uksa ds mŸkj nhft,A 

 Attempt all the four questions. 

1- fuEufyf[kr lwpukvksa ls LVkWd vkorZ Kkr dhft, % 

vf/kdre LVkWd    9000 bdkb;k¡ 

vkns’k Lrj   3000 bdkb;k¡ 

U;wure LVkWd Lrj 1200 bdkb;k¡ 

iqu% vkns’k ek=k  7800 bdkb;k¡ 

lkekU; [kir  300 bdkb;k¡ izfrfnu 

Calculate inventory tunover from the following details : 

Maximum stock 9000 units 

Order level   3000 units 

Minimum stock level 1200 units 

Re-order quantity 7800 units 

Normal consumption 300 units per day 

vFkok 

(Or) 

,d Jfed ds le; dkMZ ds fo’ys”k.k ls Li”V gksrk gS fd dqy 48 

?k.Vksa esa ls mlus mRiknu ij 45 ?k.Vs ¼5 ?k.Vs vf/kle; dks ‘kkfey 

djrs gq,½ dke fd;k vkSj rhu ?k.Vs dk dk;Zghu le; e’khu [kjkc 

gks tkus ds dkj.k FkkA etnwjh dh nj ` 2 izfr ?k.Vk gS rFkk 

vf/kle; ds fy;s 50% vfrfjDr fn;k tkrk gSA Jfed dks Hkqxrku 

dh xbZ dqy etnwjh dks dkj.k lfgr izR;{k vkSj vizR;{k Je esa 

foHkkftr dhft,A 
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An analysis of the time card of a worker on a machine shows 

that total of the 48 hours he worked 45 hours (including 5 

hours overtime) on production and that three hours was idle 

time due to machine breakdown. The rate of wages is ` 2 per 

hour and overtime is paid 50% extra. Allocate the total 

wages paid to worker between direct and indirect labour with 

reason. 

2- ftuh us ,d Hkou fuekZ.k ds fy, ,d Bsdk fefgj ls 1 tuojh] 2020 

dks ` 75]000 ds Bsdk ewY; ij fy;kA bl laca/k esa fuEufyf[kr O;; 

gq;s % 

lkexzh iz;qDr  ` 25]000 

lkexzh gLrLFk var esa ` 1]000 

Je      ` 35]000 

izR;{k O;;   ` 20]000 

Iyk.V Ø;   ` 10]000 

Bsdk 30 twu] 2020 dks iwjk gks x;kA Iyk.V ij 10% kl yxkuk gS 

rFkk vizR;{k O;; etnwjh ds 20% gSA  

ftuh dh iqLrd esa Bsdk [kkrk cukb;sA 

Jini undertook a contract for constructing a building from 

Mihir on 1st Jan., 2020, the contract price being ` 75,000. 

Following expenses incurred in this connection : 

Material consumed ` 25,000 

Material in hand at end  ` 1,000 

Wages    ` 35,000 

Direct expenses ` 20,000 

Plant purchased ` 10,000 

The contract was completed on 30th June, 2020. Charge 10% 

depreciation on plant and charge 20% indirect expenses on 

wages.  

Prepare Contract Account in the books of Zini. 
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vFkok 

(Or) 

ifjpkyu ykxr fdls dgrs gSa \ blds D;k mís’; gSa \ mu laLFkkvksa 

dk uke crkb;s tgk¡ bl jhfr dk iz;ksx gksrk gSA 

 What is meant by Operating Costing ? What are its 

objectives ? State the institutes where it is to be used. 

3- mRiknu A ls mikssRikn B fudyrk gSA fuekZ.k ds la;qDr O;; gSa % 

lkexzh     ` 20]000 

Je      ` 10]000 

vizR;{k O;; Je dk vk/kk gSA ckn esa O;; fuEu izdkj gSa % 

 A 

(`) 

B 

(`) 

lkexzh 10,000 5,000 

Je 15,000 10,000 

mifjO;; 4,000 3,000 

foØ; ewY;  30,000 

foØ; ij vuqekfur ykHk         25% 

fof/k [kkrs cukb;s vkSj la;qDr O;;ksa dk c¡Vokjk crkb;sA 

Product ‘A’ yields byproduct ‘B’. The joint expenses of 

manufacture are : 

Material   ` 20,000 

Labour    ` 10,000 
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Indirect expenses cost is half of labour charges. Subsequent 

expenses are the following : 

 A 

(`) 

B 

(`) 

Material 10,000 5,000 

Labour 15,000 10,000 

Overhead 4,000 3,000 

Selling Price  30,000 

Estimated profit on Sale       25% 

Prepare process account and show the apportionment of joint 

expenditure. 

vFkok 

(Or) 

lkekU; {k;] vlkekU; {k; ,oa vlkekU; izHkko’khyrk dks le>kb,A 

Explain normal wastage, abnormal wastage and abnormal 

effectiveness. 

4- Ok”kZ 2019 ds nkSjku vxzoky ÇizfVax dEiuh fyfeVsM dk ykHk&gkfu 

[kkrk fuEufyf[kr gS % 

 ` 

foØ; 3,55,800 

?kVkb;s % [kpZ   

        dPpk eky 74,200 

        LVkslZ 48,800 

        O;; 2,04,000 

        O;kt 20,000 

        kl 20,000 



 [ 19 ] E–113 

 P. T. O. 

2019 esa dEiuh {kerk ds 60% ij dk;Z dj jgh FkhA ` 2]04]000 ds 

[kpks± esa 25% ifjorZu’khy gSA 2020 esa mRiknu {kerk ds 80% rd 

gksus dh vk’kadk gSA fLFkj ykxr esa ` 12]000 dh of̀) lEHkkfor gSA 

2020 gsrq ctV cukb;sA 

Agrawal Printing Company Limited Profit & Loss A/c is 

following during the year 2019 : 

 ` 

Sales 3,55,800 

Less  : Expenses  

           Raw Material 74,200 

           Stores 48,800 

           Expenses 2,04,000 

           Interest 20,000 

           Depreciation 20,000 

The company had been working at 60% of capacity during 

2019. 25% expenses from ` 2,04,000 is variable. Production 

volume expected for 2020 is 80% of the production level. 

However, fixed cost is expected to increase by ` 12,000. 

Prepare budget for 2020. 

vFkok 

(Or) 

ctfVax dk mís’; D;k gS \ ,d izHkko’kkyh ctV ds eq[; rRoksa dk 

o.kZu dhft,A 

What is the objectives of Budgeting ? Discuss the essentials 

of an effective budget. 
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